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(a) The quadratic equation x> — 2x + 4 = 0 has roots « and B.

[2]
(2]

() Write down the values of & + 8 and af8.
(i) Show that o + % = —4.
(iii) Hence find a quadratlc equation which has roots o (x and B2
(b) The cubic equation x3 12x? +@ 48 = 0 has roots D 2p and 3p \)
(i) Find the value of p.

(2]

(ii) Hence find the value of a.
(Q8, June 2005)
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- ';{"é 1 (" Qj ¥ S ) *' m* Q y 3 Fig. 6 shows the region enclosed by part of the curve y = 2x2, the straight line x + y = 3, and the y-axis.
' i ' . "’E: The curve and the straight line meet atP (1, 2),
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solid of revolution formed.
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19 One root of the quadratic equation\x® + ax + b = 0, where @ and b are real, is 16 — 30i.
(i) Write down the other root of the quadratic equation. 1]
(ii) Find the values of a E'I;‘ld b. - 4]
(Q9, June 2011) ¢
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